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PART II: READING COMPREHENSION (30 MARKYS)
PASSAGE 1: Shopping online
A. Choose the best answer according to Passage 1. (3 x 2 =6 marks)

1. Shopping online is popular because you can ...
B. shop whenever you want.
2. Sometimes the products you buy online are not ...
C. might be of inferior quality.
3. The products people buy online cost more when they are...

D. shipped from another country.

C. Complete the paragraph with words from Passage 1. (5 x 2 =10 marks)
1. availability 2. purchase 3. secure 4. possibility 5. replacement
PASSAGE 2: Education For All

D. Choose the best answer according to Passage 2. (2 x 2 =4 marks)

1. A good education brings ... to a nation.
B. economic growth.
2. Young people in societies without education ...

C. become an unskilled workforce.

D. Puta (¥)in the correct box to say whether the following statements are TRUE
or FALSE according to Passage 2. (5 x 2 =10 marks)

1. 7T 2.T 3.F 4. F 5. T




PART III: USE OF ENGLISH (40 MARKYS)
A. Complete the sentences with the correct alternative. (10 x 1 =10 marks)
1. (c) begins 6. (a) won't be finished
2. (a) was washing 7. (d) knew
3. (c) has been cleaning 8. (c) do
4. (b) had never tasted 9. (b) since
5. (d) don’t have to 10. (a) on
B. Complete the second sentence so that it has a similar meaning to 5he first

sentence, using the word given. Do not change the word given.
(5 x 2 =10 marks)
.. unless her brother goes ...

.. was not/wasn’t cooked by ...
.. Wwhere he was ...

.. were not/weren’t able to ...
.. have been working here ...

ok wnhE

Use the words given in brackets to form words that fit the blanks.
(10 x 1 =10 marks)

1. farmer 6. slapping

2. healthy 7. earlier

3. illness 8. director

4. relief 9. hopeful

5. frequently 10. closer

Complete the gaps with ONE suitable word. (10 x 1 =10 marks)
1. have / provide 6.1n

2.a 7. students / children / pupils / kids
3. by 8. and/ or

4. for 9.to

5. where 10. be



